Contents lists available at ScienceDirect

Fuzzy Sets and Systems

journal homepage: www.elsevier.com/locate/fss

Short Communication

A short note about a practical procedure for the calculus of the Sugeno integral

J. Caballero*, B. López, K. Sadarangani

Departamento de Matemáticas, Universidad de Las Palmas de Gran Canaria, Campus de Tafira Baja, 35017 Las Palmas de Gran Canaria, Las Palmas, Spain

ARTICLE INFO

ABSTRACT

MSC: 28E10 26E50

Keywords: Monotone measure Sugeno integral

1. Introduction

The theory of fuzzy integration with respect to a fuzzy measure was introduced by Sugeno in [1] as an effective tool modeling for the treatment of non-deterministic problems. Shortly after, fuzzy integrals were used in the subjective evaluation patterns [2] and forecast evaluation [3].

In this note, we present a practical method for the computation of the Sugeno integral of a

nonnegative measurable function with respect to a general monotone measure.

Nowadays, the use of nonadditive measures (which take into account the interaction between measured objects) and nonlinear integrals has encouraged the study and application of Sugeno integrals and Choquet integrals. Since Sugeno introduced the fuzzy integrals a great number of papers have appeared in the literature studying their properties and applications. Concerning with general theory, in [4] the authors compare the Choquet and Sugeno integrals, in [5] the authors studied properties of the double Sugeno integral. Moreover, in [6] a new characterization of the Sugeno integral, viewed as a special aggregation function, is given. Ralescu and Adams [7] proved theorems of continuity of the fuzzy integral with respect to measure convergence and pointwise convergence for a continuous and subadditive fuzzy measures.

Many techniques have been developed to compute a Sugeno integral. Specifically in a significant number of cases, a practical way to compute the fuzzy integral of a nonnegative measurable function translates to solving a fixed point problem which can be a challenging issue to address.

In this paper, we propose a practical method for the computation of the Sugeno integral of a nonnegative measurable function with respect to a general monotone measure.

* Corresponding author. E-mail addresses: josefa.caballero@ulpgc.es (J. Caballero), belen.lopez@ulpgc.es (B. López), kishin.sadarangani@ulpgc.es (K. Sadarangani).

https://doi.org/10.1016/j.fss.2025.109385

Available online 24 March 2025

0165-0114/© 2025 Elsevier B.V. All rights are reserved, including those for text and data mining, AI training, and similar technologies.







Received 20 July 2023; Received in revised form 17 October 2024; Accepted 21 March 2025

2. Preliminaries

In this section, we introduce some basic notation and properties of the fuzzy integral. Suppose that Σ is a σ -algebra of subsets of a set X. A fuzzy (or monotone) measure is a mapping $\mu : \Sigma \to [0, \infty)$ satisfying the following two conditions:

- (i) $\mu(\emptyset) = 0$,
- (ii) for any $A, B \in \Sigma$, $A \subset B \Rightarrow \mu(A) \le \mu(B)$.

The triple (X, Σ, μ) is called a fuzzy measure space. Now, given $f : X \to [0, \infty)$, Σ -measurable, for any $\alpha > 0$, by $F_{\alpha}(f)$ we denote the set

 $F_{\alpha}(f) = \{ x \in X : f(x) \ge \alpha \}$

and $F_0(f) = \{x \in X : f(x) > 0\} = suppf$ is the support of f. For convenience, $\{f \ge \alpha\}$ and $\{f > 0\}$ will denote the sets $F_\alpha(f)$ and $F_0(f)$, respectively. In the sequel, by $\mathcal{F}_+(X)$ denote the set of all non-negative measurable functions with respect to Σ .

Definition 1. Let (X, Σ, μ) be a fuzzy measure space, $f \in \mathcal{F}_+(X)$ and $A \in \Sigma$. The fuzzy integral (or Sugeno integral) of f on A with respect to the fuzzy measure μ is defined as

$$\oint_A f d\mu = \bigvee_{\alpha \ge 0} \left(\alpha \wedge \mu(A \cap F_\alpha) \right)$$

where \lor and \land denote the operations sup and inf on $[0, \infty)$, respectively.

The following properties of the Sugeno integral are well known and can be found in [8].

Proposition 1. Let (X, Σ, μ) be a fuzzy measure space, $A \in \Sigma$ and $f, g \in \mathcal{F}_+(X)$, then:

 $\begin{array}{l} (1) \ f_A \ f \ d\mu \leq \mu(A), \\ (2) \ f_A \ k \ d\mu = k \land \mu(A), \ for \ any \ k \ nonnegative \ constant, \\ (3) \ If \ f \leq g \ on \ A \ then \ f_A \ f \ d\mu \leq f_A \ g \ d\mu, \\ (4) \ \mu(A \cap F_{\alpha}) \leq \alpha \Rightarrow f_A \ f \ d\mu \leq \alpha, \\ (5) \ \mu(A \cap F_{\alpha}) \geq \alpha \Rightarrow f_A \ f \ d\mu \geq \alpha, \\ (6) \ f_A \ f \ d\mu < \alpha \Leftrightarrow \ there \ exists \ \gamma < \alpha \ such \ that \ \mu(A \cap F_{\gamma}) > \alpha. \\ (7) \ f_A \ f \ d\mu > \alpha \Leftrightarrow \ there \ exists \ \gamma > \alpha \ such \ that \ \mu(A \cap F_{\gamma}) > \alpha. \end{array}$

In Theorem 3.5 of [9], it is proved the following result.

Theorem 1. Suppose that there exists $\alpha_0 \in \mathbb{R}_+$ such that $\alpha_0 = \mu (A \cap \{f \ge \alpha_0\})$, where $f \in \mathcal{F}_+(X)$ and $A \in \Sigma$. Then $\alpha_0 = f_A f d\mu$.

Remark 1. Theorem 1 appears in [8,10] where the authors used fuzzy measures more restrictive that our monotone measures. Moreover, it can be that the equation $\alpha = \mu (A \cap \{f \ge \alpha\})$ has not solution and in this case, the Sugeno integral must be computed in alternative manner (see Example 1 of [11] and Example 4.2 of [9]).

3. Main result

The main result of the paper in the following.

Theorem 2. Let (X, Σ, μ) be a fuzzy measure space, $f \in \mathcal{F}_+(X)$, $A \in \Sigma$ and $\alpha_0 = \mu (A \cup \{f \ge \alpha_0\})$ (this is, $f_A f d \mu = \alpha_0$). Let $g : [0, \infty) \to [0, \infty)$ be a strictly increasing function such that the equation g(x) = x has as solution $x = \alpha_0$. Then

$$\int_{A} (g \circ f) d\mu = \int_{A} f d\mu = \alpha_0.$$

Proof. Firstly, we claim that

$$\{f \ge \alpha\} = \{(g \circ f) \ge g(\alpha)\}, \text{ for any } \alpha \ge 0.$$

In fact, the strictly increasing character of g gives us that if $f(x) \ge \alpha$ then $g(f(x)) \ge g(\alpha)$ and therefore,

 $\{f \ge \alpha\} \subset \{(g \circ f) \ge g(\alpha)\}.$

For the reverse inclusion, we have that if $(g \circ f)(x) = g(f(x)) \ge g(\alpha)$ then, since g is strictly increasing, we infer $f(x) \ge \alpha$, this is $\{(g \circ f) \ge g(\alpha)\} \subset \{f \ge \alpha\}$. This proves our claim.

Now, since $g(\alpha_0) = \alpha_0$, we deduce

$$f \ge \alpha_0\} = \{(g \circ f) \ge \alpha_0\}.$$

This gives us that

{

$$\alpha_0 = \mu(A \cap \{f \ge \alpha_0\}) = \mu(A \cap \{(g \circ f) \ge \alpha_0\}),$$

and, by Theorem 1, it follows

$$\int_{A} (g \circ f) d\mu = \alpha_0$$

This completes the proof. \Box

Next, we study some properties of the function *g* appearing in Theorem 2.

Proposition 2. Suppose that $\gamma > 0$, we denote by C_{γ} the following class of functions

 $C_{\gamma} = \{g : [0, \infty) \to [0, \infty) : g \text{ is strictly increasing and } Fix g = \{\gamma\}\},\$

where *F* ix g is the set of fixed points of g (this is, those points satisfying g(x) = x). For any $f, g \in C_{\gamma}$ it is satisfied:

- a) $g \circ f \in C_{\gamma}$,
- b) $f^n = f \circ \cdots^{n} \circ f \in C_{\gamma}$, for any $n \in \mathbb{N}$,
- c) any convex linear combination $\lambda f + (1 \lambda)g \in C_{\gamma}$, $\lambda \in [0, 1]$,
- d) if $r, s \in (0, \infty)$ and r + s = 1 then $f^r \cdot g^s \in C_{\gamma}$,
- e) the maximum and minimum of the functions f, g this is, $h = \max\{f, g\}$ and $j = \min\{f, g\}$ belong to C_{γ} .

Proof. The proof of these results is straightforward and, therefore, we omit it. \Box

Taking into account Proposition 2 and Theorem 2, we can state the following corollary.

Corollary 1. Suppose that (X, Σ, μ) is a fuzzy measure space, $f \in F_+(X)$, $A \in \Sigma$ and $\alpha_0 = \mu(A \cap \{f \ge \alpha_0\})$. Then

$$\int_{A} (g \circ f) d\mu = \int_{A} f d\mu = \alpha_0 \quad \text{for any } g \in C_{\alpha_0}.$$

In the sequel, we present some examples. From now on, μ will be the usual Lebesgue measure.

Example 1. Suppose that X = [0, 1] and let $f : [0, 1] \rightarrow [0, \infty)$ be the function defined by

$$f(x) = \begin{cases} 0, & \text{if } x = 0, \\ \frac{1}{x}, & \text{if } x \in (0, 1]. \end{cases}$$

Then a straightforward calculus shows that $1 = \mu (x \in [0, 1] : f(x) \ge 1) = \int_{0}^{1} f d\mu$.

Now, we consider the function $g : [0, \infty) \to [0, \infty)$ defined by $g(x) = \sqrt{x}$, then

$$(g \circ f)(x) = \begin{cases} 0, & \text{if } x = 0, \\ \frac{1}{\sqrt{x}}, & \text{if } x \in (0, 1] \end{cases}$$

1

Since g is a strictly increasing function and the equation g(x) = x, this is, $\sqrt{x} = x$ has as positive solution x = 1, Theorem 2 says us that

J. Caballero, B. López and K. Sadarangani

$$\int_{0}^{1} \frac{1}{\sqrt{x}} d\mu = 1$$

Example 2. Consider X = [0, 1] and let $f : [0, 1] \to [0, \infty)$ be the function defined by $f(x) = x^2$. It is easy to prove that

$$\mu\left(x \in [0,1] : f(x) \ge \frac{3-\sqrt{5}}{2}\right) = \frac{3-\sqrt{5}}{2},$$

and, from this, we deduce that $\int_{-\infty}^{1} x^2 d\mu = \frac{3-\sqrt{5}}{2}$. On the other hand, we consider the function g defined on $[0,\infty)$ by

$$g(x) = x + \ln\left(x + \frac{\sqrt{5}-1}{2}\right).$$

Since $g'(x) = 1 + \frac{1}{x + \frac{\sqrt{5}-1}{2}} > 0$ in [0, 1], *g* is a strictly increasing function. Moreover, it is easily seen that the equation g(x) = x has as unique solution $\frac{3-\sqrt{5}}{2}$. Finally, by Theorem 2, we deduce that

$$\int_{0}^{1} g(x^{2}) d\mu = \frac{3-\sqrt{5}}{2},$$

or, equivalently,

$$\int_{0}^{1} \left(x^{2} + \ln \left(x^{2} + \frac{\sqrt{5} - 1}{2} \right) \right) d\mu = \frac{3 - \sqrt{5}}{2}.$$

Example 3. Let X be the interval $[0, \frac{\pi}{2}]$ and let μ be the usual Lebesgue measure on X. Consider the following integral

$$\int_{0}^{\frac{\alpha}{2}} \left(\frac{\pi}{12} + \arctan\left(\frac{6}{\pi}x\right)\right) d\mu.$$

First, we note that the function $g : [0, \infty) \rightarrow [0, \infty)$ defined by

$$g(x) = \frac{\pi}{12} + \arctan\left(\frac{3}{\pi}x\right)$$

is strictly increasing since $g'(x) = \frac{3}{\pi + \frac{9}{\pi}x^2} > 0$. Moreover, as $g(\frac{\pi}{3}) = \frac{\pi}{12} + \frac{\pi}{4} = \frac{\pi}{3}$, then $x = \frac{\pi}{3}$ satisfies the equation g(x) = x.

On the other hand, it is a routine calculation to prove that $\int_{-\infty}^{2} 2x \, d\mu = \frac{\pi}{3}$, where this value has been obtained as a solution of the

equation $\alpha = \mu \left(x \in [0, \frac{\pi}{2}] : f(x) \ge \alpha \right)$ where f(x) = 2x. Now, by using Theorem 2, we infer that

$$\int_{0}^{\frac{\pi}{2}} (g \circ f) \, d\mu = \int_{0}^{\frac{\pi}{2}} \left(\frac{\pi}{12} + \arctan\left(\frac{6}{\pi}x\right)\right) d\mu = \frac{\pi}{3}.$$

Example 4. Let X = [1, 2]. Then, it is a straightforward calculate gives us that

$$\int_{1}^{2} x^2 d\mu = 1.$$

On the other hand, the functions $g, h : [0, \infty) \to [0, \infty)$ given by $g(x) = e^{x-1}$ and $h(x) = \frac{4}{\pi} \arctan x$ are strictly increasing, and the unique solution of equations g(x) = x and h(x) = x is x = 1. Therefore, $g, h \in C_1$. Applying Proposition 2 and Corollary 1, for any $\lambda \in [0, 1]$ we have that

$$\int_{1}^{2} (\lambda g + (1 - \lambda)h)(x^{2}) d\mu = \int_{1}^{2} \lambda e^{x^{2} - 1} + \frac{4(1 - \lambda)}{\pi} \arctan x^{2} d\mu = 1.$$

Remark 2. As we see in the Examples 2 and 3, this is in the following fuzzy integrals $\int_{0}^{1} \left(x^{2} + \ln\left(x^{2} + \frac{\sqrt{5}-1}{2}\right)\right) d\mu$ and

 $\int_{0}^{2} \left(\frac{\pi}{12} + \arctan\left(\frac{6}{\pi}x\right)\right) d\mu, \text{ its computation by using the equation } \alpha = \mu\left([0,1] \cap \{f \ge \alpha\}\right) \text{ or } \beta = \mu\left([0,\frac{\pi}{2}] \cap \{g \ge \beta\}\right), \text{ where } f(x) = x^{2} + \ln\left(x^{2} + \frac{\sqrt{5}-1}{2}\right) \text{ and } g(x) = \frac{\pi}{12} + \arctan\left(\frac{6}{\pi}x\right) \text{ is a very complicated question since to give an analytic expression of the sets } \{f \ge \alpha\} \text{ and } \{g \ge \beta\} \text{ is not trivial or it does not exist as in Example 3. These examples make sense to the result obtained in Theorem 1.}$

4. Concluding remarks

In the present note, we give a sufficient condition in order to compute Sugeno integral. Our method is based in a fixed point technique. Moreover, we present some examples of Sugeno integrals where our result can be applied and without knowledge of this result, the value of these integrals would be a difficult question.

CRediT authorship contribution statement

J. Caballero: Writing – review & editing, Writing – original draft, Investigation. **B. López:** Writing – review & editing, Writing – original draft, Investigation. **K. Sadarangani:** Writing – review & editing, Writing – original draft, Investigation.

Declaration of competing interest

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

Data availability

No data was used for the research described in the article.

References

- [1] M. Sugeno, Theory of fuzzy integrals and its applications, Ph. D. Thesis, Tokyo Institute of Technology, 1974.
- [2] M. Sugeno, Y. Tsukamoto, T. Terano, Subjective evaluation of fuzzy objects, in: IFAC Symp. on Stochastic Control, 1974.
- [3] A. Kandel, Fuzzy statistics and forecast evaluation, IEEE Trans. Syst. Man. Cybern. 8 (1978) 396-401.
- [4] L.M. Campos, M. Jorge Bolaños, Characterization and comparison of Sugeno and Choquet integrals, Fuzzy Sets Syst. 52 (1992) 61-67.
- [5] D. Dubois, H. Fargier, A. Rico, Commuting double Sugeno integrals, Int. J. Uncertain. Fuzz. Knowl.-Based Syst. 27 (2019) 1-38.
- [6] R. Halǎ, R. Mesiar, J. Pócs, A new charaterization of the discrete Sugeno integral, Inf. Fusion 29 (2016) 84-86.
- [7] R. Ralescu, G. Adams, The fuzzy integral, J. Math. Anal. Appl. 75 (1980) 562–570.
- [8] Z. Wang, G. Klir, Fuzzy Measure Theory, Plenum Press, New York, 1992.
- [9] I. Chitescu, M. Giurgescu, A. Plavitu, Computing Sugeno integrals, Adv. Fuzzy Sets Syst. 465 (2023) 108513.
- [10] E. Pap, Null-Additive Set Functions, Kluwer, Dordrecht, 1995.
- [11] J. Caballero, K. Sadarangani, A Cauchy-Schwarz type inequality for fuzzy integrals, Nonlinear Anal. 73 (2010) 3329–3335.